GROSS ANATOMY EXAMINATION |

AUGUST 30, 1995

PART 1. Answer in the space provided. (18 pts.)

1.

. 16-3

Identify the cutaneous innervation to the areas indicated. (2 pts.)
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Answer in the space provided.

~ 3. Identify the structures. (2 pts)
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Answer in the space provided.
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Identify the structures (2pts.)
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Answer in the space provided. _ **\ e
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General plan of sympathetic nerve distribution.
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PARTII. Answer in the space provided. (22 pts)

1. A number of important structures create “impressions” on the lungs. Dysfunction
of these related structures may have impact on respiration. Briefly indicate
differences between impressions on the left lung and right lung. (4 pts.)
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Thé heart occupies a precise location in the thorax in order to function. Discuss the
stabilization of the heart in the middle mediastinum. (5 pts.)
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Answer in the space provided.

3. A patient comes to your office complaining of being tired. Your examination
reveals an acute inflammation of the pericardial sac (i.e., pericarditis) brought on by
an infection, and results in a pericardial effusion (i.e., passage of fluid from the
pericardial capillaries into the pericardial cavity). (6 pts.)

a. Why might the heart be embarrassed in action and the heart rate slowed by the
fluid in the pericardial sac? (2 pts.)
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b. Where would you withdraw fluid (paracentesis) from the pericardial cavity
without causing a pneumothorax? Explain your answer on an anatomical basis.

(4 pts.)
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4. Discuss the relationship of tﬁe phrenic nerve to the pericardium and the pleura.
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Answer in the space provided.

5. Accumulation of fluid in the pleural cavity may be “tapped” at the
costodiaphragmatic recess. Briefly define this recess at the midaxillary plane, and
explain and justify whether a needle to extract fluid should be passed into the
thoracic cavity above or below the rib. (4 pts.)
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PARTIII. Answer in the space provided. (32 pts.)

1. Cancer of the lung necessitates a knowledge of the lymphatic system. Indicate your
understanding of the lymphatic drainage of the lung. (5 pts.)

2. A mediastinoscope can be used to visualize cancer in the superior mediastinum.
Discuss the boundaries and contents of the superior mediastinum. (7 pts.)
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Answer 1n the space provided.
3. Structures in the femoral triangle are often used for cardiac angiography. Discuss

the anatomy and contents of the femoral triangle, and the relationships of the
structures as they enter, occupy, and exit the triangle. (8 pts.)
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Answer in the space provided.
4. Discuss the anatomy of the hip joint. Include an account of the innervation,

vascular supply, ligaments, bones and articulations, movements and limitations of
movements. (12 pts.)
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PART IV. Answer in the space provided. (28 pts.)

1. Damage to the knee may involve the menisci. Discuss the anatomy and function of
the menisci in the knee. Explain which meniscus is most vulnerable to injury;
justify your answer. (8 pts.)
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Answer in the space provided.

2. Locomotion involves understanding of the arches of the foot. Define the medial
longitudinal arch and discuss the support of this arch. Please be systematic in your
answer by working from the deepest structures outward. Include a description of
the reason(s) for a failure of this arch. (10 pts.)
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Answer in the space provided.

3.

A patient with a history of ischemia in the lower limb brought on by narrowing of
the arteries (i.e., intermittent claudication) presents with a foot drop and a slightly
everted foot. You check and find a weakened pulse of the dorsalis pedis artery.
Using your skills of anatomy and physical diagnosis, how would you discriminate
between involvement of only this artery or its parent and/or other arteries in the
lower limb, differentiate between an arterial versus a neural problem, and explain
the clinical findings using your anatomical knowledge. (10 pts.)
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